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FTTE JEAR T 4 JEARTT = JEAR TN JEARTTF H JEARTTF H JEAR T 4 AR F=E | AT Bl | BT B | R ERT JEAR TR JEAR TR L
P /E| H27.10. 16 H27.10. 13 H27.10. 13 H27.10. 13 H27.10. 16 H27.10. 13 H27.10. 13 H27.10. 16 H27.10. 16 H27.10. 13 H27.10. 16 H27.10. 16
Kige 5§ i i i = i i = 5] i 5] =
I RITA (mg/L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
BT < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
& < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
AV ZA=1A < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02
it < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
TR ER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
TV L IKER

PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
Y AR < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
DU A PR 55 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
WL =L ) v — < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
L,2-Yr/umuxiy < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
L1I-Y/aoxzFL < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 0. 0004 0. 0004
,2-Y/nupnxFLo < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 0.018 0. 044

VA=, 2-vV/anrxzFL v < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 0.018 0. 044

FTrR-1,2-YV /R F L < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 0. 0002
L1L,I-hY ok 0. 0003 < 0.0002 < 0.0002 < 0.0002 < 0.0002 0. 0006 < 0.0002 0. 0002
LL,2-h)ZaaxXy < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002

DA =1= = S P < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 0. 0023 0.0019 0. 0029 0. 0046 0. 0032
FhoropFLr < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 0. 028 < 0.0002
L3-Yrauaray < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
FT L < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
VS < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FA_HNT < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
NP < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
M 28 38 B VAR A A Pk 25 5 1.5 6.0 2.0 3.3 < 0.10 5.3 35

e[ sE 1.5 6.0 2.0 3.3 < 0.05 5.3 35

HR AR 22 5 < 0.05 < 0.05 < 0.05 < 0.05 < 0.05 < 0.05 < 0.05
Y < 0.08 < 0.08 < 0.08 < 0.08 < 0.08 < 0.08
EBES < 0.02 < 0.02 0.03 0.03 < 0.02 < 0.02 0. 80
1, 4-TF %9 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
ERARE R (ms/m) 24 30 20 42 23 28 25 14 53 24 56 18
pH 7.1 6.9 6.9 6.6 7.7 7.2 7.0 7.5 7.3 7.3 7.0 7.3
R (‘C) 16. 4 23.2 24.0 23.0 16. 8 25.0 19.3 15.5 15.3 22.7 15.6 17.1
KR (‘C) 17.0 18.1 19.0 18.8 16.5 19.5 17.5 16. 7 18. 4 18.7 17.1 18.6
B R R R pii fidb Ak 38 R R pii pii 5511 R R IR e
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FTTE JEATR A A | JEARTNE | BT EEIR | AR BT K
P /E| H27.10. 13 H27.10. 13 H27.10. 16 H27.10. 16 H27.10. 16
Kige 5] 5] 5] = 5]
B RIT A (mg/L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
BT < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
0 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
Y ZA=A < 0.02 < 0.02 < 0.02 < 0.02 < 0.02
it < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
H7K ER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
TV L IKER

PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
/A= R=l < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
Wik e < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
EhE = LE ) ~v— < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
L,2-Yr7uanxXy < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
L1-YZunzFL < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
,2-Y7nuxF Ly < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
VA=, 2-vV/anrxzFL v < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
NZ v A-1,2-Y7arxF L < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
L1L,I-hY ok < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
L1,2-~NYzs7maxH < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
A=A S 2 0. 0006 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FrFrupFLv < 0.0002 < 0.0002 < 0.0002 < 0.0002 0. 0002
L3-Yrzuanra~y < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
FUT A < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
A < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FA_HNT < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
O < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
M 28 38 B VAR A A Pk 25 5 1.5 1.9 13 9.1 3.3
e[ sE 1.5 1.9 13 9.1 3.3

HF A 2 5 < 0.05 < 0.05 < 0.05 < 0.05 < 0.05
N < 0.08 < 0.08 < 0.08 < 0.08 < 0.08
EBES 0.07 0.02 < 0.02 0.14 < 0.02
1, 4=V A9 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
ERARE R (ms/m) 23 18 26 86 22
pH 7.3 7.0 7.1 6.9 7.0
AR (C) 24.9 24.9 16.3 16.0 15.5
KR (©) 17.5 20.0 18.0 17.3 16.5
B pii pii R R R
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